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WORKSHEET CHECK DIGlT CALCULATION

chVERsmN TABLE
LETTERS TO NUMBERS

>
i

1

0] ~22-NMIE

o
]

O
il

n

o
[

i

n
n

]
n

SUM OF
PRODUCTS

CHECK DIGIT COMPUTATION -

DIVIDED WHOLE

( FROM ABOVE) BY NUMBER

EQUALS

+

DECIMAL

CHARACTER POSITION 1 2 a|lals e '7' 8 9'___‘1'0 TT 15 | 16
acruaLvin. | ) Mg [F s | 1|5 (2 rIrR|Rloj2|ololo
“converteo vawues || 14 [ 261 2|1 |S (28 alzlolzlolels
~ mormeuer lel7 6 |s|al3l2lwogBiiofjs]|7]|e|5]|a]|3
- - proouet |7 |2zlsul 20l 120 (B olizlolo
?‘(VALUESXMULTIPLIER) 3 ?’8 )Hgo 8 3 lo-. 20 o 3' l6 [2 O B o

272

U RED

72

 GHECK DIGIT

IF THE
DECIMAL
IS

.09

.18

27

EXAMPLE

1
2
3
4

E=5
6
7
-
1

SRR
|

L
i

Nl<Ix|ZE|lc|citlolDiv|Z
]
‘Dﬂ'\lmm&ﬂﬂtﬂ‘lm

ZIT A
i
C L

11

BECAUSE THE DECIMAL IS .45, YOU SHOULD CHOOSE THE
CHECK DIGIT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE.
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